Jlemoncmpayuonnslii eapuanm 3a0aHuil 011 6CHMYRUMETbHBIX UCHOIMAHUIL NO

AH2TIUIICKOMY A3BIKY 0711 hocmynawuux 6 6 knacc MAOY cumnazua Ne2

I. Open the brackets
1. My brother (to wear) shorts in summer.
2. The girls (to be) in the park now.
3. My mother (to cook) dinner at the moment.
4. Ann (to play) tennis last Sunday.
5. Kate’s Grandma (to buy) a new TV yesterday.
6. The boys (to be) at the Zoo last week.
7. There __ (to be) a lot of snow three days ago.
8. Mary (to travel) to the seaside with her family next summer.
9. Peter (to do) his homework at six o’clock in the evening
yesterday.
10.Nick (to be going / to study) in England in 2022.
11.John (never/ to fly) by plane.
12.1f he (to have) free time, he always (to go) for a walk.
13.Ben is the (good) student in our class.
14.When my sister was five, she (can/ to swim) very well.
15.Children (should/ to help) their parents about the house.
16.Their grandparents can sing (beautiful).
17.Bread (to eat) all over the world.
18.They (to know) each other for four years.
19.Jim is (healthy) than Mary.

20.The cake (to make) yesterday.



I1. Ask five types of questions to the sentence:
Ann drew a nice picture of a tiger yesterday.

a general question
an alternative question
a question to the subject

a special question

A A

atag question

I11. Read the text and choose the right answer.

* Reading

E Read the text. In each question choose the right answer, A, B, C or D.

Christopher Columbus was a famous explorer. He came from Genoa, a seaside city in the north of ltaly.
When he was a boy, Columbus knew he wanted to become a sailor, and he first went to sea when he
was only 14 years old.

In Columbus’s time, getting to Asia was very important for Europeans. This is because Asia had
wonderful things that Europeans wanted to buy. Europeans knew of two different ways to get to Asia:
over land through the east or by sea around the coast of South Africa. But both these journeys were
difficult, dangerous and took a very long time.

Columbus had an idea to sail west, instead of south, across the Atlantic Ocean because he thought he
could reach Asia more quickly and easily this way. Columbus told the king of Portugal about his idea
and asked him to give him ships for his voyage. The king said no. He asked the kings of France and
England. But they said no too. After many years, the king and queen of Spain agreed to help Columbus.
In August, 1492, Columbus set sail from Spain. Two months later, he landed on an island in the
Americas. This landing was one of the most important in European history. It was the start of the
Europeans living in America. But Columbus didn't understand he was in a new part of the world! He
was certain he was in India. This is the reason he called the natives who lived in the Americas ‘Indians!
Columbus returned to the Americas three more times during his lifetime. Each time, he believed he was
in Asia. During his life, Columbus never realised he was in a new part of the world. Even though Columbus
was wrong about being in Asia, people today still consider Christopher Columbus a great explorer.

1 Christopher Columbus 4 Columbus finally crossed the Atlantic with the
A didn’t decide to become a sailor until he help of the
was an adult. A Spanish king. C English king.
B first saw the sea when he was 14 years old. B Portuguese king. D French king.
C lived by the sea when he was a child.
D moved to Italy when he was little. 5 When Columbus arrived in the Americas,
A he didn’t know what to call the native
2 In Columbus’s day, Europeans people.
A didn’t know an easy way to get to Asia. B he was sure he was in India.
B sold lots of things to Asia. o C there weren’t any people there.
C could reach Asia quickly. D there were already people from Europe there.

D could only get to Asia by land.
6 From the text, we know that Columbus

3 Columbus's idea to get to Asia quickly was A went back to America three times.
A to sail from Portugal. B discovered a new part of Asia.
B to sail south. C discovered a new way to reach Asia.
C to use new ships. D was a bad explorer because he didn’t find
D to sail west. Asia.

( Points: __\



Yemuas vacmeo

|. Read the text aloud.

Columbus had an idea to sail west, instead of south, across the Atlantic Ocean because he thought he
could reach Asia more quickly and easily this way. Columbus told the king of Portugal about his idea
and asked him to give him ships for his voyage. The king said no. He asked the kings of France and
England. But they said no too. After many years, the king and queen of Spain agreed to help Columbus.
In August, 1492, Columbus set sail from Spain. Two months later, he landed on an island in the
Americas. This landing was one of the most important in European history. It was the start of the
Europeans living in America. But Columbus didn't understand he was in a new part of the world! He
~ was certain he was in India. This is the reason he called the natives who lived in the Americas ‘Indians.

l Columbus returned to the Americas three more times during his lifetime. Each time, he believed he was

" inAsia. During his life, Columbus never realised he was in a new part of the world. Even though Columbus
' was wrong about being in Asia, people today still consider Christopher Columbus a great explorer.

I1. Answer the questions. Give full answers.

Ten questions are based on the topics:

School and school life

Family and friends

Free time and hobbies

Sports and keeping fit

Nature and the weather

Learning English

Using the Internet

Famous sights in English speaking countries



Knrouu x 3a0anusam

I. Open the brackets
1 wears 11 | has never flown
2 are 12 | has.....goes
3 Is cooking 13 | best
4 played 14 | could swim
5 bought 15 | should help
6 were 16 | beautifully
7 was 17 | is eaten
8 will travel(is going to travel) 18 | have known
9 was doing 19 | healthier
10 | is going to study 20 | was made

I1. Ask five types of questions to the sentence:
Ann drew a nice picture of a tiger yesterday.

Did Ann draw a nice picture of a tiger yesterday?
Did Ann draw a nice picture of a tiger or a lion yesterday?
Who drew a nice picture of a tiger yesterday?

What did Ann draw yesterday?

A A

Ann drew a nice picture of a tiger yesterday, didn’t she?

I11. Read the text and choose the right answer.

1.C 2A 3.D 4A 5B 6.A

3a Kascowlil npasuibHblil omeem 6 3a0anuax 1-3 evicmasnaemca 1 oann.
Bpemsa evinonnenusn 3adanun 40 munym.

Maxkcumanvnwiii 6ann 3a 3a0anun 1-3 31 oann*

*) Koniuuecmeo 60nPoOCo8 6 3a0anuu 3 MO2ym 6apbUpo8amuvcs om 5 00 7.



3aoanue 1 nposepsem c@opmupo8aHHoCmb HABbIKA PACNO3HABAHUS U

ynompeobaeHus c1edyrouje2o Mamepuand.:

Present Simple, Present Continuous, Past Simple, Past Continuous, Future Simple,
to be going to do smth, there is/are/was/were, Present Perfect, Present Simple
Passive, Past Simple Passive, comparison of adjectives, First Conditional, Zero

conditional, modal verbs(can, could, should), adjective+ly=adverb.

3aoanue 2 nposepsiem cqhopmMupo8aHHOCMb HABLIKA 3A0ABAMb PA3HbIE MUNbBI

80NpOCos.

3adanue 3 npoeep:sem CgbOPMup06ClHHOCI’I’Zb HABbIKA NOUCKOB0O20 YMEHUA C Yelblo

8b100POUHO20 NOHUMAHUSL He0OX0OUMOU UHDOpMAYUU U3 MeKCmA.

Kpurepnn onieHMBaHNs BBIOJIHEHUS 3a1aHUN YCTHOU YacTH

3ananue 1 (UTeHHe TEeKCTa BCIIyX) — MAaKCUMYM 2 Oaria

bamer | oHeTHUECKAsA CTOPOHA PEUH

2 Peub BocmippHUMAaETCs J1€TKO: HEOOOCHOBAHHBIE TIAy3bl OTCYTCTBYIOT;
¢dpa3oBoe yaapeHHe W WHTOHAIIMOHHBIE KOHTYPBI, MPOU3HOILICHUE
CJIOB TpPaKTUYECKH O3 HapyUICHUW HOPMBI; JIOMYCKAeTCs He
Oozee

nATH (OHETHYECKUX OIMMOOK, B TOM YHCJIE OJHA-IIBE OIIMOKH,
MCKQKAFOIINE CMBICTT

1 Peur BoCTpHHMMAETCS ITOCTATOYHO JIETKO, OJHAKO MPUCYTCTBYIOT
HEOOOCHOBaHHbBIC Tay3bl; ()pa3oBOE yJapeHHWE W WHTOHAIMOHHBIC

KOHTYPBI TIPaKTHYECKH O€3 HApYIICHWH HOPMBI;, JOIMYCKACTCS HE

Oosiee ceMu (POHETUUYECKUX OIIMOOK, B TOM UMCII€ TPU OIIHUOKH,

MCKQKAFOIINE CMBICTT

0 Peub BocnmpuHHMMAETCS C TPYIOM H3-3a 3HAYUTEIHHOTO KOJIMYECTBA
HEECTECTBEHHBIX Iay3, 3alIMHOK, HEBEPHOW PACCTAHOBKH yJlapeHUM U
OIIUOOK B MTPOU3HOIIICHUH CJIOB,

NJIN nonymeno OGonee cemu dpoHeTHUeckux ommook, MJIN
JIOMYIIIEHO YeThipe M Oosiee (hOHETUYECKUE OIIMOKH,

MCKaXaIOIINe CMBICIT




3amanne 2 (ygacTuE B yCIOBHOM JHANIOTe-paccipoce) — Mmakcumym 20 6aiioB

OHeHI/IBaeTCH OTACIIBbHO Ka)I(I[BIﬁ U3 JCCATH OTBCTOB.

OaJIJIBI
OtBeThl | 2 Oanna 1 Gamn 0 6ayutoB
Ha J1aH MOJHBIN, J1aH TOJTHBIN OTBET Ha OTBeT Ha BOIIPOC
BOIIPOCHI | pa3BEPHYTHIN MOCTABJICHHBIA BOIIPOC; HE JiaH,
1-10 OTBET HA nonyiieHHbie otaensubie | UJIW oTBeT He
MOCTaBJICHHBIA | (hOHETHUECKUE, COOTBETCTBYET
BOIIPOC; JIEKCUYECKHUE U 3aJJaHHOMY BOIIPOCY,
JOMYIIEHBI 1-2 | rpaMMaTHYECKue WNJIA otBer naH B
OT/ICJIbHBIC MOrPENTHOCTH BHUJIC CJIOBa
dboHeTHuecKue, | HE 3aTPYAHSIOT WM CJIOBOCOYETAHMS,
JICKCUYECKUE U MOHUMAaHUI N/WJIA nonytieHst
rpaMMaTHYeCKue dhoHeTHueCKUE
MOTPEIIHOCTH U JICKCUYECKHE, U
rpaMMaTH4YeCKHe
OIITNOKHU,
MIPEMATCTBYIOLINE

IIOHMMAaHHIO OTBCTa

Makcumanvnulit 6a11 3a 3a0anusn ycmuou yvacmu 22 oanna

Bpema evtnonnenusn ycmuoit wacmu 10 munym.




